
www.guptaclasses.comGUPTA CLASSESGUPTA CLASSES

4. PIE CHART
Directions (1-5): Read the following pie- chart to answer the questions given below
it.

15%
Savings

20%
others

Transport 5%

Education
12%

15%
Housing

10%
Clothing

23%
Food

1. If the total amount spent during the year 1998 was
Rs. 46000/-, the amount spent on food, was :
;fn o’kZ 1998 esa dqy [kpZ Rs 46000/ gks rks Hkkstu ij
fdrus :i;s [kpZ fd;s x;s&
(a) Rs. 2000/(b) Rs. 10580/(c) Rs. 23000/
(d) Rs. 2300/

2. If the total amount spent was Rs. 46000/ , how much
was spent on clothing and housing together?
;fn [kpZ dqy :- 46000@ gks rks dIkM+ksa rFkk fuokl ij dqy
fdruk [kpZ fd;k x;k&
(a) Rs. 11500/ (b) Rs. 1150/ (c) Rs. 10000/(d) Rs. 15000/

3. The ratio of the total amount of money spent on
housing to that spent on education was:
gkmflax ij fd;s x;s [kpZ dk] f”k{kk ij fd;s x;s [kpZ ls
vuqikr crk;s\
(a)5 : 2 (b) 2 : 5 (c) 4 : 5 (d) 5 : 4

4. Graph shows that the maximum amount was spent
on:
fuEu esa ls fdl en ij vf/kdre :i;k [kpZ fd;k x;k&
(a) Food (b) Housing (c) Clothing (d) Others

5. If the total expenditure of the family for the year
1998 was Rs. 46000/, the family saved during the
year.
;fn o’kZ 1998 esa] ifjokj dk lHkh enksa ij dqy [kpZ Rs 46000/
gks rks crk;s] bl o’kZ ifjokj dh cpr fdruh Fkh]
(a) Rs. 1500/ (b) Rs. 15000/
(c) Rs. 6900 (d)Rs. 3067/ approx

Directions (6-10): The pie-chart given here represent the domestic expenditure of a
family in percent. Study the chart and answer the following questions if the total
monthly income of the family is Rs 33, 650.
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A : Expenditure on food
B : Expenditure on house – rent
C : Expenditure on entertainment.
D : Expenditure on education and maintenance of

children.
E : Medical and miscellaneous expenditure.
F : Deductions towards provident fund.

6. The house rent per month is:
(a) Rs.6000 (b) Rs. 6152 (c) Rs. 6057 (d) Rs. 6048

7. The annual savings in the form of provident fund
would be.
izksfoMsaV QUM ds :Ik esa okf’kZd cpr crk;sA
(a) Rs. 48,456 (b) Rs. 48,540
(c) Rs. 44, 856 (d) Rs. 45,480

8. After provident fund deductions and payment of
house rent, the total monthly income of the family
remains.
fdjk;k rFkk izksfoMsUV QUM ess dVkSrh ds ckn ifjokj dh
ekfld vk; fdruh cprh gSA
(a) Rs. 23,545 (b) Rs. 24,435
(c) Rs. 23,555 (d) Rs. 25,355

9. The total amount per month, the family spends on
food and entertainment combined together is:
ifjokj }kjk Hkkstu rFkk euksjatu ij dqy fdruk [kpZ fn;k
tkrk gSA
(a) Rs. 11, 432 (b) Rs. 11, 441
(c) Rs. 12, 315 (d) Rs. 12, 443

10. Had there been no children in the family what
would have been the total savings of the family
including that provident fund?
vxj ifjokj esa dksbZ Hkh cPpk u gks rks crk;sa ml fn”kk esa
ifjokj dh dqy cpr izksfoMsUV QUM dks feykdj fdruh
gksxh\
(a) Rs. 12, 667.50 (b) Rs. 12, 625. 50
(c) Rs. 11, 727. 50 d) Rs. 11, 777.50

Direciton(11-13): The pie charts given show some automobile parts manufactured by
an authomobile company at its Pune and Nagpur plants in the year 2009.

Study the pie charts and answer the questions
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11. If the Nagpur plant produced 8,00,000 tyres, then
the number of horns produced by it was.
;fn ukxiqj la;= }kjk 8]00]000 Vk;j cuk;s x;s] rks crk;s
bl ;a= }kjk fdrus Hkksaiw mRikfnr fd;s x;sA
(a) 12,000 (b) 18,500 (c) 75,000 (d) 60,000

12. How many percent more tubes were produced at
the Pune plant than those produced at the Nagpur
plant?
iq.ks la;a= esa fdrus % vf/kd V~;wc ukxiqj la;a= dh rqyuk esa
mRikfnr fd;sA
(a) 14 % (b) 12% (c) 8% (d) 3%

13. The ratio of number of horns produced at Nagpur
plant to that produced at Pune plant is
Ukxiqj rFkk iq.ks ds la;=ksa }kjk mRikfnr Hkksiqvksa dh la[;k dk
vuqikr crk;sA
(a) 3 : 7 (b) 10 : 3 (c) 7 : 3 (d) 7 : 10

Direciton 14-17 The pie –chart given here, shows various expenses of a publisher in
the production and sale of a book. Study the chart and answer question based on it.
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14. If the printing cost is Rs. 17,500, the ‘Royality’ paid
is:
;fn NikbZ ewY; Rs 17,500 gks] rks fdruh jkW;YVh nh x;hA
(a) Rs. 8,750 (b) Rs. 7,500 (c) Rs. 6,300(d) Rs. 3, 130

15. The measure of central angle for the section
‘printing cost’ is:
*NikbZ ewY;* }kjk cuk;k x;k dsUnzh; dks.k crk;sA
(a) 126 (b) 70 (c) 63 (d) 35

16. Miscellaneous expenses are what percent of paper
cost?
vU; ¼fofo/k½ [kpZs] dkxt ewY; ds fdrus % gSA
(a) 4% (b) 10% (c) 40% (d) 44%

17. The difference between the measure of central angles of
sector for binding chares and advertisement chartes is:
*okbafMax ij fd;s x;s [kpZ* ,oa foKkiu ij fd;s [kpZ }kjk
cuk;s x;s dsUnzh; dks.kksa esa fdruk vUrj gSA
(a) 180 (b) 90 (c) 18 (d) 0

Directions (18-20) : In the following questions, study the two pie-char and answer
the questions.
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18. What is the percent increase in Education in May
month than April month?
vizSy ekg dh rqyuk esa] ebZ ekg esa f”k{kk esa fdrus % o`f) gqbZA
(a) 9.56% (b) 12.35% (c) 20% (d)  10.82%

19. The ratio of amount spent for savings in April
month’s salary and miscellaneous in May month’s
salary is
vizSy ekg dh osru esa ls dh xbZ cpr rFkk ebZ ekg dh osru
esa ls fofo/k [kpZ ds chp vuqikr crk;sA
(a) 216 : 25 (b) 217: 26 (c) 205 : 13 (d) 235 : 50

20. From the salary of May, the amount spent on
Grocery and Electricity are:
ebZ ekg esa osru  ls xzksljh rFkk fctyh ij fdruk [kpZ fd;k
x;k A
(a) Rs. 6250, Rs. 3360 (b) Rs. 960 , Rs. 5040
(c) Rs. 3500, Rs. 2250 (d) Rs. 2160, Rs. 480

Directions 21-23 In question the pie-chart given here shows expenditure

incurred by a family on various items and their savings. Study the chart and answer
the questions based on the pie-chart.
bl ikbZ&pkVZ esa ,d ifjokj }kjk fofHkUUk inksa ij fd;k x;k [kpZ
vkSj mudh cpr dks n”kkZ;k x;k gSA pkVZ dk v/;;u djs vkSj
ikbZ&pkVZ ij vk/kkfjr iz”uksa dk mRrj nsA
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21. If the monthly income is Rs.36000 then the yearly
` savings is:
;fn ekfld vk; Rs 36000 gS rks okf’kZd cpr gS&
(a) Rs. 72000 (b) Rs. 60000
(c) Rs. 74000 (d) Rs. 70000

22.If the expenditure on education is Rs. 1600 more than that
of housing then the expenditure on food is:
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;fn f”k{kk ij [kpZ edku [kpZ ls :- 1600 vf/kd gS rks
Hkkstu [kpZ gS&
(a) Rs. 6000 (b) Rs. 12000 (c) Rs. 7000 (d) Rs. 3333

23. The ratio of expenditure on food to savings is:
Hkkstu [kpZ vkSj cpr dk vuqikr gS&
(a) 2 :1 (b) 3:1
(c) 3:2 (d) 10: 9

Directions (Q. 24-28) : Study the following graph and answer accordingly:
The following graph shpws the regional distribution of
aid from DAC members
uhps fn, x;s xzkQ dks Ik<dj iz”uksa ds mRrj nhft, ;g xzkQ DAC esEclZ dks

{kS=h; forj.k lgk;rk dks n”kkZrk gS

24. If the High-income countries get Rs. 6.4 billion in aid in
2008, then aid received by Middle East & North Africa is
how much more than that by East Asia & Pacific in the
same year ?
vxj mPp vk; ns”kksa dks lu 2008 esa 6.4 vjc :Ik;s feyrs gS rc lu
2008 esa fefMy bZLV rFkk ukFkZ vQjhdk dks feyh jkf”k bZLV ,sf”k;k o
isflfQd dks feyh jkf”k ls fdruh T;knk gS ?

(1) Rs. 2.6 billion (2) Rs. 3.4 billion (3) Rs. 3.6 billion
(4) Rs. 2.4 billion

25. If the total aid received by all the receipient countries in
2008 and 2013 is the same, then how many countries got
more aid in 2013 than in 2008?
vxj lu 2008 o lu 2013 esa lHkh ns”kksa dks feyh dqy jkf”k cjkcj gS rks
lu 2013 esa fdrus ns”kksa dks lu 2008 dh rqyuk esa T;knk lgk;rk feyh
gS ?

(1) Four (2) Three(3) Five(4) Two
26. If Latin America & Caribbean countries get Rs. 6 billion

in aid in 2013, then aid received bu Sub-Saharan Africa
is what percent more than East Asia & Pacific ?
vxj ySfVu vesfjdk o dSjhfc;u ns”kksa dks lu 2013 esa 6 vjc Mkyj :
feys gks rks lc lgkju dh jkf”k bZLV bZf.M;k o isflfQd  ls fdruh
izfr”kr T;knk gS ?

(1) 71.42% (2) 65.43% (3) 75.32%(4) 80.41%
27. If the total aid received by all the countries in 2008 and

2013 was Rs. 50 billion and Rs.45 billion respectively,
then which group of countries show the minimum
difference between 2013 and 2014 ?
vxj lu 2008 o 2013 esa foKkiu }kjk dqy 50 fcfy;u rFkk 45
fcfy;u izkIr gq,] rc dEiuh dk dkSu lk Hkkx 2013&14 esa lcls de
vUrj n”kkZrk gS ?

(1) Europe & Central Asia
(2) High-income countries
(3) South Asia
(4) Middle East & North Africa
(5) Latin caribian America

28. The aids received by Middle East & North Africa in 2008
and by Europe & Central Asia in 2013 are Rs. 10.5 billion
and Rs. 2.4 billion respectively. What is the ratio between
the total aid received by all the countries in 2008 to that
in 2013?
fefMy bZLV o ukFkZ vQzhdk rFkk lu 2013 esa ;wjksi o lsUVªy ,sf”k;k dks
feyh lgk;rk dze”k 10.5 vjc o 2.4 vjc :Ik;s jgh gSA lu 2008 esa
lHkh ns”kksa }kjk vftZr vk; dk lu 2013 esa vftZr vk; ls D;k vuqikr
gS ?

(1) 6 : 5 (2) 3 : 2 (3) 5 : 6 (4) 2 : 3
Directions (29-33) : Study the following pie-charts carefully and answer
accordingly:
The following pie-charts show the number of students
appearinf in IIT examination from different states in two
successive years. The total number of students appearing in
2011 and 2012 was 2.50 lakhs and 2.40 lakhs respectively.
fups fn;k x;k ikbZ pkVZ nks dzekxr o’kkZs esa fofHkUu jkT;ksa ls
vkbZŒvkbZŒVhŒ mEehnokjksa dks n”kkZrk gSA 2011 esa dqy 2.50 yk[k
rFkk 2012 esa dqy 2.40 yk[k fo/kkFkhZ ijh{kk esa cSBsa

29. In the case of which of the following states we get to see
the maximum difference between the number of students
appearing in 2011 to that in 2012 ?
fuEu esa ls fdl jkT; ls fo/kkFkhZ;ksa dh la[;k esa 2011 o
2012 esa lcls T;knk vUrj gS ?

(1) UP (2) TN (3) Rest (4) None of these
30. The number of students appearing from Bihar in 2012

was percent of that from WB in 2011 ?
2012 esa fcgkj ls “kkfey fo/kkFkhZ;kasa dh la[;k 2011 esa WB ds
fo/kkFkhZ;ksa dh la[;k dk fdrus izfr”kr Fkh ?

(1) 96% (2) 90% (3) 111%(4) 94%
31. The total number of students appearing from Bihar and

UP together in 2011 is approximately equal to that
from which of the following pairs of states in 2012 ?
2011 esa ;wŒihŒ o fcgkj ls dqy fo/kkFkhZ;ksa dh la[;k 2012 esa
fdu nks jkT;ksa ds dqy fo/kkFkhZ;ksa dh la[;k ds yxHkx cjkcj
gksxh ?

(1) Delhi, TN (2) Delhi, Rest (3) UP, WB
(4) UP, Rest

32. If there were 3000 students appearing in the examination
from Delhi in 2012, find the percentage number of
students appearing from Delhi in 2012.
vxj 2012 esa fnYyh ls 3000 fo/kkFkhZ ijh{kk esa cSBs rks fnYyh ls 2012 essa
fdrus izfr”kr fo/kkFkhZ;ksa dks izos”k feyk ?

(1) 10% (2) 18% (3) 12% (4) 15%
33. The number of students who appeared in 2011 from

Bihar is approximately what percent of that in 2012
from WB ?
2011 esa fcgkj ls fo/kkFkhZ;ksa dh la[;k] 2012 esa WB ls
fo/kkFkhZ;ksa dh la[;k dk yxHkx fdrus izfr”kr gS ?

(1) 75% (2) 80% (3) 85% (4) 7


